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A, Any change whatsoever requires at least

two elements acting in concert, both of which

contain the causes (ofsuch change).

Any one elementary particle is incapable, of

itself and alone, of being^ (Dhanged. For a change

of state in such a particle would requirO an active

force either within or withoiit that particle. If

such a force were external, then a second particle

is supposed, from which it proc6^ } if such a

force he intemaij what exists no^to make it

active, which did not exist previously ? Xl'heniere

lapse of moments could not make it aetive, for

time is ii constant quantity, it reinains the same

throughout. Eithej*; then, the particle (for the

supposed change of state) mu«t lose sduaething

which it formerly had, or it must gaun something

which it formerly had tibt ; and, in either case,

its elementary nature Would be destroyed. And

hence it is sfdd that a particle in motion or at

rest, would for ever continue in motion or at rest,

unless by virtue of other forces external to, and

acting on it.

if a second particle be supposed capable of.

acting, and which now acts with the first, then

the change which each has conspired to bring

about will be the effect. Thus, for example,

gravity is not spoken of in a particle of matter In

relation to pure space, but in relatiou to another-

particle in which the like force exists. Thus,

suppose pure water to be formed by a partible of
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